PHYS 23] Ock. 7, 2024

Lagt Tiwme:

detne T - iJ
Glution fo x*=2x+UY =O 5
X= 1z ,03

/h ?vawQ} wt mll ﬂ% '/fw/ lpa/f’ o'fa LOMF}&(
ho. 2= X +J ;g

vt o
ar;fomf;)w Re [%} = X (“MJH”T] w2 thet
o, 2 doesn't inyolie \ )

of 2. hot Mcluabv:j ] )



Dvaw e nunbtr line

(Wasinay
A A
3y t- - - @ Z=2+3
2 4 ‘ \J
| J,J ¢
Tt J , | :
H 4 — —H—t—t— — —> .-
-3 -2 ‘l";/.(.Q 2 1{Z 2 e Yy Keal
,zj"
'3:)_{
1
L

what nos. (ke (I\]d_g ?

To extend ths Fz'a‘ure) crecde a stcond axls L
4o the fvgt, Welll call tihe ov/‘7'ov\J axij i~
"Red” axrs £ Pre mtw L axis fe I‘In@gmq./j axis,

P/““e' Z = 0?*3\/‘ on owr cooyd. 976;

Notice that in /uwy‘tj Mﬂ‘ 7= X +J3 (s $imilay
H oa Z-compopunt Vet = x e 'n



[/
¥y
/ ﬁ\;J—\——>x
—_— X :
|
‘ [ > A A
sz*’d?’@ \)i)(l-t—'}d
B
| V= [V dive i Y/
Likewst YEFVWNJ( GWPZ&‘ \lro{-afoi cw ffom Y-axl3
ho. 2 28 2 disk: 'onm‘hw X = (\7|cos¢
OYigin (2| (maginitnde Sf%) y= | T | sm &
ood o~ B muas. cow Ton.
reaﬂ axls .,
V[ s ey

X = [?/6’05@/@
y = (2l §)M}9/@




Plu.} 0, é@ ko @

2= Xy Tovo equil way §
= #lcos P +d 12 S’)Y\D/ ot mpvwwh»g
— e St aowP/a(

\/ (605 2#’\}51}/\ ﬁj hv\vwla&v

/ . Zz
Lets coostder XY™ for our complec po, 2.,

from QO k= (2(“cos*
@ 4= Rl snw2
g }(7’1—37’: (Z-Iz(ﬁosijz ‘f’SlV');@)

ul (e g™ [ﬁe[ﬂ +/,u[fj\/




SMVMMra '

KWW NFN{&Wt'm/j mp/g)( no, Z# /‘h 1'Zl/\u? N‘Vdf .

( iy 2= “Jj
(i) 2= l?((éaSﬁ#JS)h,@’)

[T pven X?%) 2] =

If qiven (2 i‘ﬁ) X =
L//  o—— ‘&/zt

-




Keview  of 723/5;/ geve( ( ngd{y P, Mclouren §ems)

Clasw ] conn €XpVEss oy few thot is mfmle/y

Arffemvjoablr 4S @ powe, series,

'F(X)‘: Go € 2\ X * G x* tq; Ko+,

Need @ schenmy or 'F lel\/y e vabveS of i~
CUCH;M\M\/S auj Ly Gz, -

c Qo +4 [O) +@(0)+. .
X=0O

) . lo = -F(o)]

NeX‘)’) considenc

fonsl dev F( O) < ‘F()()

kS

-—~= O+ &t 2ax + 305"+,

N




One weve. .. Consider JF
dx?

ol *F

1" Ot O +Ad, + 3 245X +...

(2 et 3|
.

G, = | a1
2 d

X=0

C —

Covrl'\‘\aw\/\j Iwﬂus {’az)‘ovx) Ve mwli ﬂcl\ni,

- L L
o 3! dx3
X=0

e o] Reinn
h ) bn = ’TT 1

X =0

72‘\{10" s ex pamgion ot wccx) sbod ¥=D
s than

L AP
) =) aige|
n=9 X=0 |




EmWPIeG Find ﬂJ(w series for sin x.

(n
’ d r ( J(ll) !
<= — sm(x) | L
N\ E | e | e
|%=0

') Ad Sy X \ O

| 2% CoS X l

2 Q. —S'n X O
3 | 4 | -oesX ~\ /3!

L H ay S\ % O

G A co5 X |/ 51

Al even valires ’avt n reswbm au=o .

smx = x—Lyl+ LS|

3 S

Exevase for T studunsd

)
A T A

S ot e ‘{'mdlor covits expnsisns for

cos X i‘ €” ant TV lmd

CoS KX =

>z [ex+ L4

‘.«

2
K y
= ¢ X _

al 4l

’(f
&

z.’ 3’I + 4.0

-

L?.l-.

-~



7; GDVW\(,U[* Tml
e glor  sevtes o complex pos. | consider
. osub x = I taylor Series 5 e*

2. [+(j&)+ (0/30 + (J@) Jﬁ) .@;

?, 4,’ 5
ce¥. 1+ ) 2 -2 3 +
2! S5 +4‘a‘ +JZ_*
YIRS
noo[ "
2 |5 |-t
3 |0 [§i*= -
G ‘.’q \";13"'\]
5 -Jr W=
' %=
4 J
Z_ (-3, 2t 2¢
A L0 2 |
{ 21 +4.( o t V) *J/}Z‘QZ*Z
M~ s
¢oS
Z Sin 2




